BE 0

X = B fke A% A4 & B {7 |fiF
E1EAS | ERRISHEIZA2A| 1:53:07| 19,/ 2847
B2 mke | K192 1A | 1:55:04| 25,/ 28(%
aEkS | ERk204E12A60 | 1:57:25| 22 /2507
HAEKS | ERR214E12A5H| 1:56:00 21 2547
#5 RS | ko212 48| 1:54:41| 16,204
e EAkS | Ek2sEI2ASA| 1:54:24 141747
B 7EIRE | PRk24F12A 1A | 1:54:51 15 /1607
F8EINE | P24 12 TH| 1:58:56| 15 /167
oMk | FkeeE12H 6| 2:01:53 14,1647
H10EARE | ER2TAEI12A5A ]| 1:51:07| 13,1647
HEIRE | P28 1230 | 1:45:49| 12,1647
H12EKE | P22 20| 1:46:13] 9,164
H13ERE | PRS0EI2A 1A ]| 1:41:24]  5,/16(F
FLAFIRE | AFIEIZH17TA | 1:44:24) 8 /16fi%
#15EkS | ARSHELA 140 | 1:55:43] 12,1607




